(BAMAR Q(40, 30, 30, 70)]
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ZAFD + ZACD = 110° 4+ 70° = 180° TH %55
PaffE ACDF EFICiEs %,

L7zh3 5T ZADF = ZACF = 30°

ZADB = 50° — 30° = 20°

(Fsk] AR ACDF HAICREY 3%4
(i) a=30°4+a, b=c=230°, d=30°+43 5%,
a+28=90° OBRMKID IO L &,

6 =60°—3
(i) a=120°—-2a, b=c=30° d=30°+«
DEIRDBE D LD L &,
0 =60°—qa 7L, 30° <a<d4b°
(iii) b=c=30° a4+ 2d = 180° DRI D IO L &,
60 =90°—d772L, 30° <a<60°

a b c | d| e a b c | d| e a b c | d| e
32 1301|3074 |16 42|30 |30|69 |21 52|30|30]|64]|26
34 1301|3073 |17 44 |30|30|68 |22 54|30/ 30]| 63|27
36 | 30|30 | 72|18 46 |30 |30 |67 |23 56]|30]|30]|62]28
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X->7T, EF=EC Th3%,
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HEZMIERID X 512k 5,

/AFG + ZAEG = 180° X b A AFGE ZMIcAET %,
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ZCAG = ZEAG = ZEFG = 20° = ZACG &b GA=GC
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O=a 2L, a<30°

a b c | d| e a b c | d| e a b c | d| e
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6 |30 |30 |87 | 3 ||26|30]|30|77 |13 46 |30 | 30| 67 |23
8 130|308 | 4 || 2830|3076 | 141 48|30 30]| 66|24
10130 | 308 | 5 ||30]30|30| 75|15 50 | 30| 30| 65|25
12130308 | 6 (|32]30|30|74|16| 52|30 |30 |64 |26
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201 30|30 |80 | 101 40 |30 | 30| 70 |20




